RESOLUTION NO. 10-08 CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER	Brooks Compton	ON THE
17th DAY OF March	, 2008.	

A RESOLUTION ACCEPTING THE BID SUBMITTED BY DOUBLE JAY CONSTRUCTION, INC., FOR PEDESTRIAN ACCESSIBILITY IMPROVEMENTS - 2008 AND AUTHORIZING THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bids for Pedestrian Accessibility Improvements - 2008 according to specifications prepared by the City, and

WHEREAS, Double Jay Construction, Inc., was the lowest and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by Double Jay Construction, Inc., marked as Exhibit "A" attached hereto and made a part hereof, is hereby accepted in the amount of \$43,897.50 and that the City Manager is hereby authorized and directed to do everything necessary to evidence acceptance of said bid and to make payment pursuant thereto.

Section 2. That the City Manager is hereby authorized to expend up to an additional \$6,102.50, for a total contract amount of \$50,000.00, in accordance with unit prices quoted in the bid submitted by Double Jay Construction, Inc., if extra work becomes necessary.

PASSED this 17th day of March, 2008.

Mayor of the City of Centerville, Ohio

ATTEST:

Debra Q. James

Clerk of Council, City of Centerville, Ohio

CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 10-08 passed by the Council of the City of Centerville, Ohio on the 1744 day of 17/acch, 2008.

Debra a. James
Clerk of Council

Approved as to form, consistency with the Charter and Constitutional Provisions.

Department of Law Scott A. Liberman Municipal Attorney

BIDDER'S PROPOSAL

Pedestrian Accessibility Improvements - 2008

Submitted by: Double Jay Construction, Inc					
Having read the specifications and examined the drawings included herein:					
Pedestrian Accessibility Improvements - 2008 City of Centerville, Ohio					
for the construction of said project in Centerville, Ohio, and having also taken into account a addenda issued, the undersigned hereby propose to furnish all materials and to perform all labor, a specified and described in the said Specifications and as shown in the Plans for the said work, for the following sums:					
A. STATEMENT BY ALL BIDDERS:					
The receipt of the following Addenda to the Contract Document (drawings an specifications) is hereafter acknowledged.					
Addenda No. 1 Date 2/26/08					
Addenda No Date					
Addenda No Date					
B. COMPLETION DATE INFORMATION					
The bid price reflected above represents a completion date of June 6, 2008.					
CONTRACT PREPARATION INFORMATION					
The bidder shall supplement proposal by supplying the following information for use in the preparation of the Contract.					
NAME OF COMPANY/CORPORATION: Double Jay Construction, Inc					
NAME OF PRESIDENT: Randy Blair					
ADDRESS: 25 Harrisburg Dr					
CITY, STATE, ZIP:Englewood, Oh 45322					
FEDERAL TAX I.D. #:					
TELEPHONE #:(937) 832-3123					
FAX#:(937) 832-2596					
E-MAIL: randy@doublejayinc.com					

D. EXECUTION OF PROPOSAL

NOTE: Failure to sign proposal shall result in rejection of bid.
THIS PROPOSAL SUBMITTED BY: Double Jay Construction, Inc (NAME OF CONTRACTOR)
BY: (SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE)
Randy Blair, President
(PRINTED NAME AND TITLE)
DATE:March 5, 2008
Contact person for Contract processing: Randy Blair
Mailing address if different from above: 25 Harrisburg Dr Englewood, Oh 45322

UNIT PRICE SHEET

I COU	IECT NO	JMBER: SS-1D-08				
BER	EFERE	F CENTERVILLE MATERIAL AND CONSTRUCTION SPENCED FOR A MORE COMPLETE DESCRIPTION OF THE SIGNED PROPOSAL TOGETHER WITH THE EXECUTED	ITEMS L	IONS ARE ISTED. RE	PART OF THIS TURN ONE (1)	FROPOSAL AND MA
EF.	SPEC.		EST'D		UNIT	AMOUNT
0.	NO.	DESCRIPTION	QUANT.	UNITS	PRICE	BID
Λ	201	Shrub & stump removal	1	EA	100.00	100.00
В	201	Tree removal, ≤12" diameter, incl. stump	1	EA	300.00	300.00
c	201	Tree removal >12" diameter, incl stump	1	EA	400.00	400.00
A	202	Concrete sidewalk/ramp removed	1200	SF	1.60	1,920.00
В	202	Brick sidewalk/ramp removed (non-mortared)	150	SF	2.15	322.50
<u> </u>	202	Brick sidewalk removed (mortared)	150	SF	1.50	225.00
D	202	Curb & gutter removed	350	LF	10.50	3,675.00
4	604	Manholes adjusted to grade	2	EA	150.00	300.00
В	604	Catch basin grates adjusted to grade	1	EA	200.00	200.00
С	604	Water/Gas valves adjusted to grade	2	EA	100.00	200.00
1	608	Concrete Sidewalk, 4" thick	600	SF	5.80	3,480.00
B	608	Concrete Curb Ramp, 6" thick	600	SF	8.00	4,800.00
<u>c</u>	608	Brick Sidewalk/Ramp	225	SF	17.00	3,825.00
D	608	Detectable Warning - Brick Paver	200	SF	18.00	3,600.00
3	608	Detectable Warning - Mat	100	SF	38.00	3,800.00
	609	Concrete curb replaced in kind, incl. complete asphalt restoration	350	LF	25.00	8,750.00
	614	Maintaining traffic (per corner with new ramp)	10	EA	400.00	4,000.00
	659	Restoration incl seeding/mulching, etc (per corner with new ramp)	10	EA	400.00	4,000.00
		GRAND TOTAL PEDESTRIAN ACCESSIBILITY IMPROV	EMENTS			43,897.50

49